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NAME HEY STUDENT NUMBER,

Honors Cal(_:ulus 1 Test 1 — Fall 2010

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Communicate with me; write

“words! Use equal signs when things are equal (and don’t use them when things are not equal). Be
sure to include all necessary symbols, such as equal signs and limits. If applicable, put your answer
in the box provided. Each numbered problem is worth 12 points and the bonus problem is wort]g
12 points. Put your calculators away!!! This is a math test!!!

1. (a) Explain the mathematical philosophy of formalism.
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(b) Define a well-formed formula and what it means for an axiomatic system to be complete.
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2. Consider g(t) = 2+ cost. What is the average rate of cha,nge of g on the interval [—m, 7]
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3. Evaluate hm —!
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4. State the formal definition of hIIl.lt 11m f(z) = L.
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5. Consider f(z) = 1/z. Then linri f(z) = 1/4 and in the notation of the definition of limit we have
LTt .
L =1/4 and zy = 4. For € = 0.05, find a corresponding § > 0 such that the definition of limit
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6. Consider
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a} State the Intermediate Value Theorem.
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) If f(z) = z® — 8z + 10, show that there is a value ¢ for which f(c) = —+/3.
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8. Find the horizontal and vertical asymptotes of f(z) = Frz_2
that reflects the asymptotes of the functlon i)
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Graph y = f(z) in a way
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Bonus 1. Is it true that if you stretch a rubber band by moving one end to the right and the other
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to the left, some point of the band will end up in its original position? Give reasons for your
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